St Denys Primary School

Spellings and Times Tables

Week beginning:
th
g 6" July 2020 -

Creativity, Choice, Challenge
Achievement for All







Week 6 Spellings

Each week you will have 10 new spelling words — just 1 level this week as these are important
homophones (words that sound the same but are spelt differently and have different meanings) for
you to learn.

Some of the 10 spellings will help you investigate and learn a spelling pattern.
Others will be from our Year 4 spelling mat or are common exception words.

We suggest a structure like this for the week, based on 10-15 minutes’ practice per day:

Choose your spelling level for this week, or which spellings you are going
to 'mix and match’ (be honest about which one will be the right challenge
for you). Get someone to test you and work out which ones from the list
you will really need to focus on (remember to aim to learn about 5
spellings a week).

Session
1

Complete Look, Cover, Write, Check for your focus spellings (5-8 words
Session |you chose yesterday).

2
Investigate the spelling pattern with Activity sheet 1.

Session | Write your focus spellings in sentences to show you understand what
3 they mean.

Test! Ask someone to test you on your spelling words. How many did you

. |learn this week?
Session

5 . : : :
You could also use Activity sheet 2 to investigate the spelling pattern

further.

accept
except
whether
weather
whose
who’s
air
heir
sight
site




Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the “write’ column. If you spell the word incorrectly, write it again in the correction column.

look |[say |cover | write check | correction

Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the ‘write’ column. If you spell the word incorrectly, write it again in the correction column,

look |say | cover | write check | correction




Activity Sheet

Term 3 Set 3 Week 9

Write the correct homophone from the brackets to
complete the sentences below.

Will you ..................... his apologies? (accept/except) ]

ldon’tknow ....................... | should go to
the disco or not. (weather/whether)

v I'm looking forwardtoa .............. from
ﬁh all this spelling. (brake/break)

....... his behaviour. (affect/effect) J

you do in that situation? (wood/would)

........ his bones. (berry/bury) ]

Have you got the ............... for the bus
into town? (fare/fair)

....... of blood! (site/sight) ]
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Activity Sheet
Term 3 Set 2 Week 9

1 <

Use one of the pairs of homophones in the
box to complete the sentences below.

9
grate/great waste/waist ball/bawl accept/except ‘}QP \
| Il

groan/grown which/witch air/heir who’s/whose /“}f

LI don’t know .................. question | should do ﬁrst.)
Ca
o 5 . ,
4 | (We hada .................. time at the summer fair. )

When Blossom fell over and cut
herself, she started to ......

Y 4
Kﬂ‘\ [Are you the boy

T
Everybody .................. Sprout can have a piece of cake. ] N
Q ...... to the thrmne?)

]

)

£ Copyright Headstart Frimary Lid
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Name: Week 1 Session 1

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Mixed times tables Week 6
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 11x7= 21 11 x 12 = 41 10 x 3 =
2 9x9= 22 11x 3= 42 6x12= Time taken
3 8x4= 23 11 x5= 43 10x 3=
I — —_— 3 minute time limit &
4 5X 4= 24 7%x9= 44 1x6=
B— E—— — Score
5 7%x10= 25 5%x5= 45 9x5=
6 10 x 4 = 26 5x4= 46  3x1l= 60
7 7 %10 = 27 4x12= 47 4x10=
- B E— What's your rock status?
8 10x 3 = 28 5x5= 48 1x12=
ANN
9 11 X 3 = 29 4x11 = 49 8x3= < 18 correct in 3 mins
10 7x11= 30 11 x 4 = 50 4x11= 18-19 correct in 3 mins
11 4x7= 31 5% 4= 51 4x11 = 20-21 correct in 3 mins
o T T KR
12 7%x5= 32 5x 10 = 52 4x3= 22-24 correct in 3 mins
UNFSNED A<T
13 8x1= 33 5X6= 53 4% 4= 25-29 correct in 3 mins
T T T BRUAKTHROUGH ARTIST
14 11 x 9 = 34 10 X 5 = 54 6 X 8= 30-35 correct in 3 mins
FUPPORT ACT
15 9x9= 35 9x9= 55 1x12 = 36-44 correct in 3 mins
HEADUNER
16 8x 4= 36 2x 11 = 56 4x3= 45-59 correct in 3 mins
17 7 x11 = 37 9x%x 10 = 57 2x10 = All correct in < 3mins
ROk LEGEND
18 6X6= 38 5% 3= 58 8x7= All correct in = 2min
19 4x7 = 39 10 x 11 = 59 6X7= All correctin = 1 min
TG TABLES
20 9x6= 40 10 x 3 = 60 12x6= ’

©Maths Circle Ltd 2020



Name: Week 1 Session 2

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Mixed times tables Week 6
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 8 13 8 25 4 37 7 49 7
X 2 X5 x 11 x 10 x 1
- . o . . Time taken
2 2 14 11 26 7 38 10 50 7
X 4 X 12 X 4 X 2 x 11
3 minute time limit &
3 5 15 12 27 11 39 11 51 11 Score
x5 X 12 x 10 X 8 X 9
4 8 16 2 28 3 40 3 52 8 60
x 7 x 11 x 11 X 5 X 4
What's your rock status?
5 3 17 11 29 2 41 10 53 10
X 3 X 5 x 1 x 11 X 12
< 18 correct in 3 mins
6 5 18 5 30 2 42 3 54 4 CADACE BAdkED
x 8 X 2 x 10 x 12 x 11 GARAGT RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 4 19 9 31 2 43 2 55 3 20-21 correct in 3 mins
x5 X 9 X1 X 8 X 2 «/«“%
- - - 22-24 correct in 3 mins
g 10 50 10 33 10 an 10 56 6 UNAASNED A<T
X 2 X 7 X 2 X 12 X 2 25-29 correct in 3 mins
BRUAKTHROUGH ARTIST
30-35 correct in 3 mins
9 11 21 3 33 7 45 12 57 2 SIDDADT AdT
X9 x 7 X 6 x 10 x5 FUPPORT.
36-44 correct in 3 mins
- - - - T HudUuNR
10 5 22 11 34 11 46 11 58 5 45-59 correct in 3 mins
x 11 X 2 x 1 X 12 x 11 Adk &TAD
o<k #TAR
[ - - . o All correct in < 3mins
11 12 23 2 35 2 a7 7 59 10 Ko<k LEGEND
X 7 X 8 X 4 X 7 X 2 All correct in < 2min
All correct in < 1 min
12 10 24 4 36 11 48 7 60 3 o
X 2 X 4 x 1 X 7 x 1 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Week 1 Session 3

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20

. Mixed times tables Week 6
Rock Stars Times Tables 5 2 week
Licensed to St Denys Primary School
1 10x1= 21 8x6= 41 3x10=
2 8x1l= 22 4x7= 42 1x12 = Time taken
3 8x2= 23 10x 9= 43 10x 9 =
- R 3 minute time limit &
4 3x2= 24 7x7= 44 4x10=
- EE— Score
5 10 x 11 = 25 6 x8= 45 4x11=
6 9x9= 26 9x12= 46 2x3= 60
7 6x2= 27 3x9= 47 Ax7 =
- E— What's your rock status?
8 6 x 4= 28 8 x 11 = 48 12x8=
9 9x6= 29 10 X 11 = 49 8x 9= < 18 correct in 3 mins
R - _— ) AZE BDAATD
10 4x7= 30 2x4= 50 2% 6= 18-19 correct in 3 mins
11 3x8= 31 5% 9= 51 5x 2= 20-21 correct in 3 mins
T KR
I 11 x4 = 32 7x11= 52 8x12 = 22-24 correct in 3 mins
UNZHSNED A<T
13 6x9= 33 10x 7= 53 9x12= 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
14 10 x 3 = 34 6 x 4= 54 6 x 11 = 30-35 correct in 3 mins
JUPPORT ACT
15 3x1= 35 6x3= 55 5x 8= 36-44 correct in 3 mins
HEADUINER
16 Ox2= 36 5% 3= 56 6x8= 45-59 correct in 3 mins
17 12x 6= 37 10 X 4 = 57 7% 6= All correct in < 3mins
- - T Rodk LEKEND
18 12x11= 38 3x5= 58 12x12= All correct in < 2min
19 5x1= 39 6XxX5= 59 12 X 4 = All correct in < 1 min
20 4x12= 40 8x6= 60 6 x 10 = ’

©Maths Circle Ltd 2020



Name: Week 1 Session 4

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Mixed times tables Week 6
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
1 4 13 6 25 11 37 5 49 11
X 4 X 3 X 12 X 3 X 4
- . o . o Time taken
2 8 14 11 26 3 38 6 50 8
x 7 x 11 x 10 X 9 X 4
3 minute time limit &
3 12 15 9 27 6 39 11 51 6 Score
X 8 X 8 X1 x 10 x 1
4 11 16 9 28 12 40 6 52 2 60
X 3 x 5 x 1 x 4 x 7
What's your rock status?
5 8 17 12 29 7 41 4 53 2
x 11 X 2 x 11 X 3 x 7
< 18 correct in 3 mins
6 6 18 6 30 11 42 12 54 9 CADACE DodkEn
x 10 x 10 x 8 X 2 X 12 GARAGE RO<KER
18-19 correct in 3 mins
7 7 19 5 31 2 43 4 55 11 20-21 correct in 3 mins
x 10 X 3 X 9 X 6 X 8 «/«“%
- - - - . 22-24 correct in 3 mins
g 8 20 9 2 3 14 4 se 12 UNAGNIDAdT
x 1 X 7 X 9 X 2 X 5 25-29 correct in 3 mins
BRUAKTHROUGH ARTIAT
30-35 correct in 3 mins
9 6 21 10 33 7 45 4 57 7 AUDDART AdT
X5 x 7 x4 X 6 X 2 FUPPORT
36-44 correct in 3 mins
. e e e T HUDUNR
10 3 22 11 34 7 46 7 58 8 45-59 correct in 3 mins
X 3 x 10 X 3 X 2 x 10 Adk &TAD
Rodk FTAR
[ - - . . All correct in < 3mins
11 7 23 8 35 12 47 9 59 7 o<l LEGEND
x 10 X 4 X 8 X 9 x 10 All correct in < 2min
All correctin = 1 min
12 12 24 7 36 11 48 10 60 12 S
X 3 x 11 X 5 X 9 X 3 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Times Tables

Rock Stars

2,3,4,5,6,7,8,9,10,11,12

Times Tables

Week 1 Session 5
2019-20

Mixed times tables Week 6

5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

11 x6=

2Xx9=

10 x 9 =

9x12=

4x7=

8 x10 =

7x5=

6 x8=

4x7=

7X5=

4x1=

12x1=

4x1=

4x12=

6X2=

7x12 =

12 x 3=

11 x5=

2%x9=

7X6=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

8x7=7 41
6x7=7 42
6x12=7 43
7x6=7 44
5x9=7 45
2x7=7 46
9><4=7 47
9x4=7 48
8x4=7 49
3X5=7 50
6x6=7 51
9x7=7 52
7><6=7 53
2><12=7 54
4x2= 55
12x2=7 56
11X8=7 57
Tx4= 58
7x9= 59

3x2= 60

©Maths Circle Ltd 2020

5x9=

6x8=

1x6=

10 x 3 =

5x11 =

2X5=

5x 2=

12x9=

1x4=

9x5=

1x9=

9x5=

4x3=

1x3=

11 x 10 =

12 x 11 =

6x8=

9x9=

3x9=

2x8=

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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